OBPA3ENl BUJIETA JUISAI ABUTYPUEHTOB-UHOCTPAHHBIX I'PAK/IAH,
CIAIOHIUX YK3AMEH HA PYCCKOM WM AHTJIMFICKOM SI3bIKE:
-OnnuHrBasibHas Gopma oOydeHus,
- aOUTYpHUEHTHI, 00yJaloNINecst Ha PYCCKOM SI3bIKE,
-abutypueHTsl, o0yuaromuecs mo COTL.

B sx3aMeHalimoHHOM ounere 6yZIyT NpeACTaBJICHBI 60 BOIPOCOB, IIPU OTBETC HA KOTOPLIC HeOGXOL[I/IMO BLIGpaTL
OJHUH HpaBI/IHLHBII\/'I OTBET U3 YETBIPEX NMPEAIIOKEHHBIX BApPUAHTOB OTBETOB.

1. . B uoneHo3ax poJib peayleHTOB BbINOJIHAIOT

1) 6akrepun u rpuOHI

2) OJTHOKJIETOUHBIE BOJJOPOCIIH

3) XUIIHBIE )KUBOTHBIE

4) opraHu3MbI-Iapa3uThl

Ortgert: 1

2. IleHTp AbIXaTedbHBIX pedieKcOB PacnooKeH B
1) mo3xeuxe

2) cpeaHeM Mo3re

3) npooaroBaTOM MO3Ie

4)IpOMeKyTOYHOM MO3Te

Otger: 3

3 .ITosiBaeHnue Apo30(hpu ¢ 6eJIbIMU rJ1a3aMu (a1bOMHU3M)-pe3yabTaT
l)HemocTaTka cBeTa

2) HapylIeHNs TaMeToreHe3a

3)reHHON MyTalliH

4)Monn(hUKAITMOHHON H3MEHIUBOCTH

Otser: 3

4 JleiikouMTHI YeJ10BEKA ,B OTJIUYNU OT IPUTPOLUTOB
1) mepeaBUTalOTCs HACCUBHO C TOKOM KPOBH

2) criocoOHBI aKTHBHO MEPEIBUTaTHCS

3) HEe MOTYT NePEeABUIaThCsI CKBO3b CTEHKH KaMJUIIPOB
4) nepeBUraroTCs C IIOMOIIBIO PECHUUECK

Otser: 2

5 .Ilepenocunk Bo30yauTes dHNedaauTa-

1) Bowib

2) 6ioxa

3) 4eCOTOYHBIH 3yICHD

4) Tae)HBIN KIIEI]



Ortser: 4
SAMPLE TICKET FOR APPLICANTS-FOREIGN CITIZENS
TAKING THE EXAM IN RUSSIAN OR ENGLISH:
-bilingual form of education,
-applicants studying in Russian,
-applicants studying under the SEP.

The exam ticket will contain 60 questions, when answering which it is necessary to choose one correct answer from
four suggested answers.

1. . In biocenoses, the role of reducers is performed
1) bacteria and fungi

2) unicellular algae

3) predatory animals

4) parasitic organisms

Answer: 1

2. The center of respiratory reflexes is located in

1) the cerebellum

2) the middle brain

3) the medulla oblongata

4) the intermediate brain

Answer: 3

3 .The appearance of fruit flies with white eyes (albinism)-the result
1) lack of light

2) violations of gametogenesis

3) gene mutation

4) modification variability

Answer: 3

4 .Human leukocytes , unlike red blood cells

1) move passively with blood flow

2) are able to move around actively

3) they cannot move through the walls of capillaries
4) they move with the help of cilia

Answer: 2

5 .Carrier of the causative agent of encephalitis-

1) louse

2) flea

3) itchy vermin



4) taiga tick

Answer: 4



